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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
wers fieal erepiRs e o - |
(a) When two sets are called disjoint sets?

iR o1 TRl SR A I PRI = ?

| (b) Fill in the blanks : Yot+la=1
| it 51 979 90 ¢
(i) Every set is a __ of itself.
o STh1 FfdER e . |
(i) The ___ setis a subset of every set.
Rl 2AfSTBT TR TopiRafS |
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t2) , (3)

(c) Write the transpose of matrix () Find %, if y= 7 z.

285580
A__ﬁ 4 8 ﬂﬁyz?&’{ﬁ,%?ﬂﬁﬁ‘fﬁﬂl
A3 ZERRS (e &4 :
A= 2 i ; (g) State the quotient rule of differentiation.
il . | SIS S B ASCo! T4l |
d) If |
. zll ;’12 ;’13 (h) Find :
= || 22 23 '
T fefa 341
b3y bzpy bs3 =
x dx
write the cofactor of the element b,;. '[
I
3 ] i limit of the function
B By e | (i) Find the limi ;
B=|by; by bo3 oot
b31 b32 b33 x—1 x—l
b,s CAMMGH F2TATR I | T S fAefd
2
Looxm =1
(e) State True or False : : }c‘_rfll S
A G ST B9
The value of a determinant does not 0) Define a rational function with example_
change if the rows and columns are - : J
interchanged. TR e ARG Ferd TR o1 1
91 AR R BT F TR <A
RS FReE HARFOR THR RS 7123 |
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(4) (S)

2. Answer the following questions : . 2x5=10 (e) 1If
oS frl PR B for - o S
(a) Distinguish between equal sets and . 5 6

equivalent sets.

I 2SS (Equal sets) WF equivalent can you find B - A? Justify your answer.

RG] 1o w1 fom o 2 0
| 7 8| p-afdf
(b) State the conditions for equality of '; M A=|3 1|AF B=|- 5p
two matrices. S 6
W0l (NI FON bR Srars 41 | | w7 o T CoMR Bew E I
) If | SI5CEHT |
2
_x*—-x-2 . ’ : i
S = IS fori x#2 ' 3. Answer any four of the following questions .5x4=20
=3 for x =2 e |
show that f(x) is continuous at x = 2. | et firl R e Bife! 2rs T fod
pLi (a) Solve :
x2—x-2 | :
f)=2—"T"="= x#23F I ! RRIRICAE R
= A x=23 IR 5x+11y-146=0
' -110=0
GRS @ x =2 RS f(x) Feico! SiRfed | Lixgoy N 3
%) uil (b) Test whether the following matrix 18
@ 1f A= find A7! (i | : ingular :
, can you fin (inverse , singular or non-singular :
i Rerecs] SRAE 7 SR AR
of A)? Justify your answer. oo firam sl
W oa=|2 1| Al RR @eew) B i
IR A TA? OWR TSW e I A=202
S15<CeHET | Sm 1
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(H6%) | (7))

(c) Find the partial derivatives Y nq 294l 4. Answer either (a) or (b); (c) or (d); (e) or (f) and

9x, 0x5 (g) or (h) : 10x4=40
of the function y=x{ +2x;x3 —3x3. (@) AT (b); (c) SR (d) (e) TR (f) T
| y=x +2x,x2 —3x3 FF0BR SARFE T (g) ST (h) < < fordt :
' 9y 16 9y fAefa 1 | | (@) (i) Distinguish between equation and
l 0x; 0Xo | identity by giving examples. S
(d) Evaluate : TR WF identity I TGS AT A1
T fefa 41 TR GTTe ST |
22 (i) Find equilibrium price and quantity
J‘1 Gaimcod 810) o from the following market model : S
(e) If D=a-bp a, b>0
-2 1 3 -2 =—c+dp ¢ d>0
= d B= : ’
% [ 3 4] o [0 1 ] D=S
prove that (AB)"=BA". woe fial IGR IR o[ SRR TSI
-2 1 3 -2 G319 AfR{ :
'ﬂﬁA:[z ]WB=[ },ﬁmw TR
ﬂ(AB)':B'A’. S:—c-]-dp C,d>0
D=S
() Find the inverse of
(4 0 1] i Or / S=[1
A= 3aan] ' (b) () State the conditions of continuity of
Mo a function. What is the difference
Rt (o 3 i 61 betwcenii@iand im0 S ats
| 4 0 1] F SRfeAeR vz BRI f(a) SIF
| A=|3 2 1 lim f(x) 9 ere & o1 SR, & |
xX—=a
| L s o
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R | (9)

(ii) Evaluate the limit of the function Or / ST
2
lim %4_2 5 (d) () State and prove the product rule
2l x : of differentiation. 2+4=6
T g QSO e
o SN S e 340 | ngﬁwam ESARIE R
5 |
lim Pt 2 5 @ Ify= 2x+5, find y using quotient
x—0 x2 j x2 -3 dx a

rule of differentiation.
SITE AT BT ASCo! AT IR

© @ If ’ d =
Y _2x+5
: 15(0) | -d;?mﬂﬁcfﬂw,rrﬁy_xz’a.
a2 m3iid 20l ;
S 0F 23 citel 1= 3o (e) In a three-sector economy, the input
4 3 coefficient matrix and final demand
vector are as given below :
find AB. 5 0-3 0-2 0-3 500
1280 A=|0-1 0.3 0-4| and F =|700
JER I8 3N ! . QI 600
qﬁ_a:[ ]WB:zl’ | 0-2 0:3 0
O L¥e20:3 3 2 f Find the sectoral outputs X, X, and X3
4 3 using Cramer’s rule.
ABJ I« fefq 1 | aw%ﬁﬁngaﬁﬁﬁ@mﬂﬂﬂﬂcﬁm
i | I PO IR ($3 9o fidl WICR :
(i) Evaluate : g i3
0-3 0-2 0-3
T FRef <5 A-l0.1 0-3 0-4|EF =|700
jx2 -e* dx 02 03 O 600

e e e R A8 S X,
X, S Xz 9 TA A4 P90

A7/389 ( Continued a7 /389 ( Turn Over )



(10)

Or / 9331

() Solve the following system of simultaneous
equations by matrix inversion : 10

oo fil AR RHAfe dees e
Y 41 :
2x1 +3x2 —x3 =15
“4xy +2x3 =16
3x; +2x, =18

(g9 Write a note on the 'limitations and
significance of static input-output model.

5+5=10
B3 ToAmH-Beme wIEY ©ieoR WF AREer
QS BT (O o7t |
Or / 9941
(h) Find : ; 5+5=10
= ey <41 :
: 2 Sllvsis
(i) j(Qx +Jf+xJ
Il I 4JC +2
@x* +8x)5
* % &
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